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INDIAN ECONOMY ON THE EVE OF INDEPENDENCE
Question 1.
The country’s growth of aggregate real output was less than
of the twentieth century.
Answer
Answer: two percent

during the first half

Question 2.
The Indian economy was a/an
Answer

Answer: agrarian

economy at the time of independence.

Question 3.

_of agriculture increased the burden of revenue on farmers.
Answer

Answer: Commercialisation

Question 4.

The distribution of the working population in different sectors of the economy offers a
glimpse of structure.

Answer

Answer: occupational

Question 5.

The second stage of demographic transition began after
Answer

Answer: 1921

in India.

Question 6.

Indian economy served as a source of
its finished goods.

Answer

Answer: raw material

for the British industry and a market for




Question 7.

_were developed by the British raj as a means to enlarge the size of the market
for the British goods.

Answer

Answer: Railways

Question 8.

The British introduced the railways in India in
Answer

Answer: 1850

Question 9.

The __sector accounted for 17.2 percent of the working population on the eve of
Independence.

Answer

Answer: tertiary/service

Question 10.

India’s first official census was undertaken in
Answer

Answer: 1881
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